

6) $f_1 = \begin{bmatrix} 1 & 0 \\ 1 & 0 \end{bmatrix}$, $f_2 = \begin{bmatrix} 2 & 1 \\ 0 & 2 \end{bmatrix}$, $f_3 = \begin{bmatrix} 3 & 1 \\ 1 & 1 \end{bmatrix}$, $f_4 = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix}$, e

$(a, b, c, d)_e = x f_1 + y f_2 + z f_3 + t f_4$

\Rightarrow

$$\begin{aligned} x + 2y + 3z &= a & (-1) \quad x + 2y + 3z &= a \\ y + z + t &= b \\ x + z - t &= c \\ 2y + z &= d \end{aligned}$$

$$\begin{aligned} x + 2y + 3z &= a \\ y + z + t &= b & \begin{matrix} /-2 & /-2 \\ \downarrow & \downarrow \end{matrix} \\ -2y - 2z - t &= c - a \\ 2y + z &= d \end{aligned}$$

$$\begin{aligned} y + z + t &= b \\ t &= 2b + c - a \\ -z - 2t &= d - 2b \\ z &= 2b - d - 4b - 2c + 2a \\ z &= 2a - 2b - 2c - d & \quad y = -a + b + c + d \\ y &= b - 2a + 2b + 2c + d - 2b - c + a \Rightarrow \\ x &= a + 2a - 2b - 2c - 2d - 6a + 6b + 6c + 3d \\ x &= -3a + 4b + 4c + d \end{aligned}$$

$\Rightarrow (a, b, c, d)_e = (-3a + 4b + 4c + d, -a + b + c + d, 2a - 2b - 2c - d, -a + 2b + c)_f$

$L(f_1) = \begin{bmatrix} 1 & 1 \\ 0 & 0 \end{bmatrix} \begin{bmatrix} -1 & 0 \\ 0 & -1 \end{bmatrix} - \begin{bmatrix} -1 & 0 \\ 0 & -1 \end{bmatrix} = \begin{bmatrix} -1 & -1 \\ 0 & 0 \end{bmatrix} - \begin{bmatrix} -1 & 0 \\ 0 & -1 \end{bmatrix} = \begin{bmatrix} 0 & -1 \\ 0 & 1 \end{bmatrix}_e = \begin{bmatrix} -3 & 0 \\ 1 & -2 \end{bmatrix}_f$

$L(f_2) = \begin{bmatrix} 2 & 0 \\ 1 & 2 \end{bmatrix} \begin{bmatrix} -1 & 0 \\ 0 & -1 \end{bmatrix} - \begin{bmatrix} -4 & 0 \\ 0 & -4 \end{bmatrix} = \begin{bmatrix} -2 & 0 \\ -1 & -2 \end{bmatrix} - \begin{bmatrix} -4 & 0 \\ 0 & -4 \end{bmatrix} = \begin{bmatrix} 2 & 0 \\ -1 & 2 \end{bmatrix}_e = \begin{bmatrix} -8 & -1 \\ 4 & -3 \end{bmatrix}_f$

$L(f_3) = \begin{bmatrix} 3 & 1 \\ 1 & 1 \end{bmatrix} \begin{bmatrix} -1 & 0 \\ 0 & -1 \end{bmatrix} - \begin{bmatrix} -4 & 0 \\ 0 & -4 \end{bmatrix} = \begin{bmatrix} -3 & -1 \\ -1 & -1 \end{bmatrix} - \begin{bmatrix} -4 & 0 \\ 0 & -4 \end{bmatrix} = \begin{bmatrix} 1 & -1 \\ -1 & 3 \end{bmatrix}_e = \begin{bmatrix} -8 & 0 \\ 3 & -4 \end{bmatrix}_f$

$L(f_4) = \begin{bmatrix} 0 & -1 \\ 1 & 0 \end{bmatrix} \begin{bmatrix} -1 & 0 \\ 0 & -1 \end{bmatrix} - \begin{bmatrix} 0 & 0 \\ 0 & 0 \end{bmatrix} = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix}_e = \begin{bmatrix} 0 & 0 \\ 0 & 1 \end{bmatrix}_f$

$\Rightarrow [L]_f = \begin{bmatrix} -3 & -8 & -8 & 0 \\ 0 & -1 & 0 & 0 \\ 1 & 4 & 3 & 0 \\ -2 & -3 & -4 & 1 \end{bmatrix}$

4) $\varphi_A(\lambda) = \det(A - \lambda E) = \begin{vmatrix} -\lambda & 1 & 0 & 1 \\ 1 & -\lambda & 1 & 0 \\ 0 & 1 & -\lambda & 1 \\ 1 & 0 & 1 & -\lambda \end{vmatrix} \begin{matrix} (+) \\ \cdot \lambda (-1) \\ + \\ + \end{matrix} = \begin{vmatrix} 0 & 1-\lambda^2 & \lambda & 1 \\ 1 & -\lambda & 1 & 0 \\ 0 & 1 & -\lambda & 1 \\ 0 & \lambda & 0 & -\lambda \end{vmatrix}$

$= - \begin{vmatrix} 1-\lambda^2 & \lambda & 1 \\ 1 & -\lambda & 1 \\ \lambda & 0 & -\lambda \end{vmatrix} = - \begin{vmatrix} 1-\lambda^2 & \lambda & 2-\lambda^2 \\ 1 & -\lambda & 2 \\ \lambda & 0 & 0 \end{vmatrix} = -\lambda \begin{vmatrix} \lambda & 2-\lambda^2 \\ -\lambda & 2 \end{vmatrix}$

$= -\lambda (2\lambda + \lambda(2-\lambda^2)) = -\lambda^2 (4-\lambda^2) = -\lambda^2 (2-\lambda)(2+\lambda) = \varphi_A(\lambda)$

$A(A-2I)(A+2I) = 0 \Rightarrow M_A(\lambda) = \lambda(\lambda-2)(\lambda+2)$

$\lambda = 2$ НАЙВЕША С. ВРЕДНОСТ

$(A - 2I)u = 0$

$$\begin{bmatrix} -2 & 1 & 0 & 1 \\ 1 & -2 & 1 & 0 \\ 0 & 1 & -2 & 1 \\ 0 & 0 & 1 & -2 \end{bmatrix} \begin{bmatrix} a \\ b \\ c \\ d \end{bmatrix} = 0 \Rightarrow$$

$$\begin{cases} -2a + b + d = 0 & (*) \\ a - 2b + c = 0 & (**) \\ b - 2c + d = 0 & (***) \\ a + c - 2d = 0 & (****) \end{cases}$$

$(****) - (*) \Rightarrow a = b$
 $(***) - (**) \Rightarrow c = b$
 $(*) - 2b + 2d = 0 \Rightarrow d = b$
 $b + 2c - 3d = 0$

$$\Rightarrow u = b \begin{bmatrix} 1 \\ 1 \\ 1 \\ 1 \end{bmatrix}, b \in \mathbb{R}$$

5) $P(2t, -t+3, t+1) \in \mathcal{P} \Rightarrow \vec{PQ} = (\Delta - 2t + 1, \Delta + t - 1, \Delta - t - 1)$
 $Q(\Delta + 1, \Delta + 2, \Delta) \in \mathcal{Q}$

1) $\vec{PQ} \cdot \vec{P} = 0 \Leftrightarrow 2\Delta - 4t + 2 - \Delta - t + 1 + \Delta - t - 1 = 0 \Leftrightarrow 2\Delta - 6t + 2 = 0 \quad (*)$

2) $\vec{PQ} \cdot \vec{Q} = 0 \Leftrightarrow \Delta - 2t + 1 + \Delta + t - 1 + \Delta - t + 1 = 0 \Leftrightarrow 3\Delta - 2t - 1 = 0 \quad (**)$

$\Rightarrow -7\Delta + 5 = 0 \Rightarrow \Delta = \frac{5}{7} \quad t = \frac{4}{7}$

$\Rightarrow P(\frac{8}{7}, \frac{17}{7}, \frac{11}{7}) \quad Q(\frac{12}{7}, \frac{19}{7}, \frac{5}{7}) \quad \vec{PQ} = (\frac{4}{7}, \frac{2}{7}, -\frac{6}{7}) \parallel (2, 1, -3)$

$d(P, \mathcal{Q}) = \|\vec{PQ}\| = \sqrt{\frac{16}{49} + \frac{4}{49} + \frac{36}{49}} = \frac{\sqrt{56}}{7}$

$$n: \frac{x - \frac{8}{7}}{2} = \frac{y - \frac{17}{7}}{1} = \frac{z - \frac{11}{7}}{-3}$$

6) a) $A^T = -A$

в матрице

$\det A = \det A^T = \det(-A) = (-1)^n \det A \stackrel{!}{=} -\det A \Rightarrow \det A = 0$

b) Претноставимо супротно

1) $|A| \neq 0, |B| \neq 0, |C| \neq 0 \Rightarrow 0 = |ABC| = |A| \cdot |B| \cdot |C| \neq 0 \quad \downarrow$

2) $|A| \neq 0, |B| \neq 0, |C| = 0 \Rightarrow 0 = B^{-1} A^{-1} \cdot 0 = B^{-1} \cdot A^{-1} \cdot ABC = C \Rightarrow C = 0 \quad \downarrow$
 $\Rightarrow \exists A^{-1}, \exists B^{-1}$

3) $|A| \neq 0, |B| = 0, |C| \neq 0 \Rightarrow 0 = A^{-1} \cdot 0 \cdot C^{-1} = A^{-1} ABC C^{-1} = B \Rightarrow B = 0 \quad \downarrow$
 $\Rightarrow \exists A^{-1} \quad \exists C^{-1}$

4) $|A| = 0, |B| \neq 0, |C| \neq 0 \Rightarrow 0 = 0 C^{-1} B^{-1} = ABC C^{-1} B^{-1} = A \Rightarrow A = 0 \quad \downarrow$
 $\Rightarrow \exists B^{-1}, \exists C^{-1}$